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76 B y(X)FE[0,4+00) AT T, FEVx € (0, +0)IEHIBAY = y(x+Ax)
-y(xX)HERRAY(1+ Ay) = % +a, P aAx - OB B 5AEENH)
%%E/J\, xy(o) — l,ﬂﬂy(x) —__ (1+x)[ln(1+x)+1]




VTR Ba > O HHLELERE f(OWR lim £ (x) = b,y = y)RMH T

Y +ay= f(ORIE, N lim p(x)=-- b
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78, Zilit A, 0T HILRy = y(x) 148
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— RJ(x, VIR ET
y=xtan(Inx)
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=Y BN = p L)
79, ﬁ%zdx S HIEREN x=y(5y’+C)

X+Yy
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81. HHEY"+ ) =2y =(6x+2)e* T Ep(0) =3, y'(0) = ORIRFEy =
(42 +e™
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82, ERESERSY COWE[ £(0de =x-+sinx+ [ of (c— ), M (x) =

3 1
—e”* +—(sin x + cos x)
2 2



W3 By =y R BB R BT + 2m + 1y = 0F

»(0) = a, y'(0) = BEIREE,

N

N=

Im>n>0 )JJ_“ (x)dxl— —
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— (2ma +b)
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84. CHly, =xe* +e™*,y, =xe* +e ", y, = xe* +e”* -e " RIE_HrEEIEF IR
WA AER=A, NEa AER--- Y-y -2y=(1-2x)e"
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211, BAly (x0)Fy, (x)RITEY + p(x)y = BTN A R IR,
3% 5 RE RN =z, )

(A) y=Cp(x)- (B) y=0Cy,(x).

O) y=Cpy,(x)+C,y,(x). D) y=C(y,(x)—y,(x))-
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2120 BP(x)FE (-0, +oo)ist, HELTHRHAEM, N jﬂ P(x)dx =

ER: C
yoLs ;’J; + P(x)y = 06y = p()RIEZT 2 H L T A B
(A) DEEIEF A S AE. (B) 754306 B 4 4,

(C) 74 Hh B %44 (D) BEA RS ANERMF
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213V By = p(x)Rey" + by’ +cy = O, FePb, cHIERE, W lim p(x)

(A) 5y COWIPIEY(0), y'(0)E X, Hb,chk.

(B) 5 #& ()1 FIEY(0), y'(0) L b, T K. &X: B
(C 5&y(x)FI¥I{EY(0), y'(0) e cER, RE5FX.

(D) 5 &y (x)HIHIEy(0), y'(O) bR, REHRK.



\ 'V A=
L

TEHE
www.vyanke.com

214, BHy =e™ + (X" +2)e' By +ay’ + by = (ex + d)e'BI— Mg, N
Aa=1,b=-2,c=6,d=2.

B)a=1,b=2,c=6,d =-2.
Ca=1,b=-2,c=-6,d=2.
D)a=1,b=-2,c=6,d =-2.

ER: A
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215, W I)FE[0,+00 )IEELE, FE(0,+0 YFELZHH

xf(,l f(ex)dt +2 j: f(Odt =xf(x)+x>> WAl[  Z=. C
(A) f(x)=Cx"-3x"In(1+x)(x €[0,+0)), (CHEREHEE)-
B) f(x)=x"-3x"In(1+ x)(x €[0,+x)).
() F(x)=- Cx*-3x*Inx, x> 0,(C7~jﬁ%’f'f%"§&)'
0,x=0
(x> —3x’Inx, x> 0

D) f(x)—
=10 2
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216, ¥t L BREHEEM A A0,1)5 BA,0)HK—% MK, Py)e L EH
L — s, SR L 53% AP BRI P ERAERST x* WL 1

R 2, C
A) p=1-3x+dx’. (B) p=1-3x+3x.
(€) p=1+3x—4x". (D) y=l+4x—3x.
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217~ Ha, b, cAREEER, WA FHEY" -3y +2y =3x- 2 W R BT

(A)(ax +b)e”. (B) (ax+b)xe*.
(C) (ax + b) + ce™. D) (ax+b)+cxe*. EF: D
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218. EMHZL y=myEER R, HERSMUILFITTES
2x-y-5=0,11 y(x)im BT TR y" — 6y’ +9y = >, NIIH L TR

(A) y=sin2x. (B) y:%xz gy, BER: C

©) y= f(x +4)e**. (D) y=(x’cosx+sin2x)e™
2
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310 B, (), £, () RHTEY” + py 4y = TBIANEEAR, €, CRFIMER
FHL WC [ ()G f (2T RERN R &2 %=, D

A £(x)F(x) = [,(X) /() =0.(B) f,(x)f5(x)+ f,(x) f(x)=0.

(© £+ L) L(x)£0. D) £,(x)£7(x)— f,()£(x) £ 0.
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200. FA,BRNIEFER, C,CHERER, MHREY +ky=cos ]
B RERA B 22, C

(A) C,coskx+C,sinkx+ Asinx+ Bcosx -
(B) C,coskx+C,sinkx+ Axcosx-

(O) C,coskx+C,sinkx+ Axsinx.

(D) C,coskx+C,sinkx+ Axsin x4 Bxcosx -
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221, %A, BESRASTREHEE, WHR)Y"-2) +5y = e* cos 25 1R
(A) y*=xe"(Acos2x+ Bsin2x). gz, |

(B) y*=e"(Acos2x+ Bsin2x).

(O) y*= Axe” cos2x.

D) y*= Axe"sin2x.
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222 HAFi#y, =e 5, y, =2xe ", y, = 3e T =& REGFIR RS TR
(A) ym_yn_yr_l_y:(). (B) y"'+y"—y'—y=0- %Si: B
(C) ym_6yn+11yr_6y _ 0. (D) ym_zyn_yr_l_zy:().(ﬁ#_.‘ :)



